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SEMMOHERXREHRFE
X3 —2 EEYIHHETHLEES SHHBEICETS HEBE/1) | sl | Vs rE
2MEONE | BRES 100B1001 | B4 | FAE | A 7E i | £ F LR B AP HTHA AR
SERMO TiRICHET 51 H# SEMHEA
;ﬁ%’% TREDBBDEILNDKRES TEEDHBEESENDKRES TEZEOBHOESLADKRES TREDHBEESIEADKRES
S 100kN/mM%#E25| - -~ - - ImEBAB| - ~ - - - 100kN/m#%#825%| - - o~ - - 3ImEEZS| - ~ - - -
Zh st 1.00| 000~ 698 8847 TS | 000~ o00| 159 8.05 Zn st 100l 500~ 953 8847 TN | 500~ 953 159 805
, 100kN/m%E#Z 5| 100 000~ 059 108.75|3mEBZD| - ~ - - - 100kN/M%E#B2 5| 100| 1086~ 1252 10875\ 3m&EBZB| - ~ - - -
zhst 100 059~ 837 100.00 Fh Lot 000~ 837 232 11.73 zTh st 100| 500~ 1086 10000 TS | 500~ 12520 232 11.73
; 100kN/m%#x 5| 1L0oo| coo~ 008 101.15|3mEBZE| - ~ - - - 100kN/mZE#Z 5| 100| 11.96 ~ 1219 101.15|3m%ERBZB| - ~ - - -
ZThish Loo| oos~ 786 10000 TS | oo~ 785 247 12,49 Fhs 00| 500~ 1196 10000 FNUSY | 500~ 1219 247 1249
s 100kN/m%#8%%| 100 0oo~ o057 10850\ 3mERBZL| - ~ - - - 100kN/m%E#8Z2 5| roo| 1071~ 1245 10850|3mEBZB| - ~ - - -
Zzh st 1.00| 057~ 836 10000 TS | oo~ 836 210 10.60 Fhs 100l 500~ 1071 10000 FNUSY | 500~ 1245 210 10.60
5 100kN/mM%#E25| - - o~ - - ImEBAB| - ~ - - - 100kN/m#%825| - - o~ - - ImEBADH| - ~ - - -
Zzh st 100l 000~ 723 9206 FhAst | ooo~ 723 199 10.04 Zhn st 100l 500~ 1000 9206 FNLSY | 500~ 1000 199 10.04
100kN/m% B2 % ~ 3mEHEAD ~ 100kN/m% B2 % ~ ImEEZD ~
Thist ~ Thist ~ Thn st ~ Thilst ~
100kN/ Mm% %3 ~ 3mEERD ~ 100kN/m% 8% % ~ ImEB25 ~
Thist ~ Thilst ~ FnLst ~ Fhst ~
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 % ~ ImEB2D ~
Thist ~ Thilst ~ Thn st ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 5% ~ ImEHBZS ~
zh st ~ zThs ~ zh s ~ zhos ~
100kN/ Mm% % 3% ~ ImEBZD ~ 100kN/ Mm% %5 ~ ImEHBZS ~
zh st ~ zhos ~ zhLst ~ zh st ~
100kN/m%#B% % ~ 3mEERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Thist ~ Thilst ~ Th st ~ Thist ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m%#BZ5 ~ ImEHZD ~
Thist ~ Thilst ~ TnLst ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEZD ~ 100kN/m% B2 5% ~ ImEHBZ5 ~
zh st ~ Ths ~ zh st ~ zhost ~
100kN/ Mm% %3 ~ 3ImEBZD ~ 100kN/ Mm% %3 ~ ImEHBZS ~
Thist ~ Zhist ~ FnLst ~ Thst ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Th st ~ Thilst ~ zhust ~ Th st ~




